
Antwoorden	EGA/WHS	Online	Quiz	(imperial	version)	–	2020	Course	RaBng	System	Changes.	
Verwezen	wordt	naar	de	paginanummers	van	de	nieuwe	Course	RaBng	System	Guide.	

1. NGF			
2. Je	eigen	naam			
3. Blz.	5	linker	kolom	2de	bullit	à	10.	
4. Pag.	6	een	na	laatste	alinea	à	Use	the	scratch	player’s	Green	Target	value	and	add	2	

points.	
5. Pag.	9,	linker	kolom	onderaan	à	By	applying	the	(B)*-1	adjustment	and	possibly	the	

(P)*	adjustment.	
6. Pag.	13:	extreme	downhill	slope	=	-4.	Het	2de	schot	gee`	bij	het	adjustment	(2)*	+1.	

à	-4	+	1	=	-3.	
7. De	lengtecorrecBe	is	eigenlijk	250	[210]	–	242	[202]	=	8,	maar	pag.	14,	2de	kolom	2de	

alinea	stelt	dat	als	het	minder	dan	10	yards	is	de	waarde	0	wordt.	
8. Pag.	14,	2de	kolom	onder	Forced	lay-up	à	15	[13].	
9. Pag.	21:	het	approach	shot	hee`	-25	en	valt	dus	in	de	regel	-30	en	in	de	kolom	Minor	

to	Moderate	à	5.	
10. Pag.	23:	het	1ste	schot	krijgt	4,	het	2de	schot	krijgt	3	en	een	(W)*	+1.	Allebei	4	dus,	

hoogste	waarde	is	4.	
11. Pag.	25:	Green	Target	tabel:	kolom	4,	schotlengte	130-149	[105-114]à	5;	(V)*	+1;	(T)	

+1	à	5	+	1	+	1	=	7.	
12. Pag	25:	Green	diameter	is	27	(36	breed	en	18	diep:	breedte	is	niet	meer	dan	2	X	de	

diepte,	zie	B	op	pag	41)	à	5;	(F)	+1	à	5	+	1	=	6.	
13. Pag.	27:	de	R&R	tabel	levert	voor	B	bij	Green	Target	3	een	5	op.	Adjustment	(M)*	+1	

vanwege	rise	and	drop.	Adjustment	(3)	+2	omdat	B	de	green	niet	kan	halen	en	de	
fairway	minder	dan	20	y	breed	is	à	5	+	1	+	2	=	8.	

14. Pag.	27:	de	Carry	van	meer	dan	160	yards	over	roughhoogte	tussen	2”	en	3”	geldt	
alleen	voor	B.	Bij	het	landingsgebied	van	het	1ste	schot	zijn	gemiddelde	Mounds:	(M)*	
+1	en	flinke	Mounds	bij	een	groot	deel	van	de	green:	(M)*	+2.	Green	Target	5	voor	S	
levert	waarde	5	op	à	1	+	2	+	5	=	8.	

15. Pag.	29:	de	bunkers	aan	weerszijde	van	de	24	y	brede	fairway:	(Q)*	+1.	Diepte	van	de	
greenside	bunker	is	4:	adjustment	(D)	+1.	Een	2de	bunker	bij	het	2de	landingsgebied:	
adjustment	(2)	+1.	De	bunkers	dekken	¼	tot	½	van	de	green	af.	Dit	levert	met	een	
Green	Target	van	4	een	4	opà	1	+	1	+	1	+	4	=	7.	

16. Pag.	29:	(C)*:	alleen	voor	S	moet	de	bunker	bij	het	landingsgebied	liggen,	voor	B	
overal	langs	de	speellijn	à	False.	

17. Pag.	25:	Green	Target	voor	S	is	4,	zie	tabel.	Pag.	29:	Geen	(C)*	omdat	Green	Target	is	
<5.	Diepte	van	de	greenside	bunker	is	7:	(adjustment	D)	+2.	Omdat	het	geen	
fairwaybunker	is	(N)	-1à	4	+	2	–	1	=	5.	
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18. Pag.	30-31:	De	crossing	moet	minimaal	50	[30]	yards	zijn,	à	waarde	0	scratch,	0	
bogey.		
De	waarde	voor	Lat.	is	4.		
(Stel	dat	de	waarde	voor	Lat.	ook	0	zou	zijn,	dan	blij`	hier	toch	0	staan,	maar	dan	
moet	bij	Lat.	een	TC	van	+1	gegeven	worden.	Zie	ook	sheet	38	van	de	PP.)	

19. Pag.	31:	de	tabel	levert	5	op.	De	ER	ligt	vlak	bij	de	green:	(C)*	+	1,	à	6.	
20. Pag.	33:	De	tabel	levert	6	op,	maar	50%	daarvan	maakt	3.	Het	2de	schot	van	165	y	

levert	volgens	de	tabel	3	op.	Het	pad	zorgt	voor	een	(B)*	+1,	à	hoogste	waarde:	3	+	1	
=	4.	(Geen	(K)*	adjustment,	want	het	gebied	is	wel	als	penalty	area	gedefinieerd.)	

21. Pag.	33:	de	tabel	levert	5	op.	De	penalty	area’s	liggen	2	X	28	=	56	yards	van	elkaar,	dus	
geen	(Q)*	adjustment.	Het	2de	schot	van	198	[168]	yards	levert	volgens	de	tabel	een	4	
op	plus	vanwege	OB	een	(K)*	adjustment	van	+1	=	5.	Omdat	deze	2	waarden	ieder	5	
zijn	en	samen	<11	krijg	je	het	adjustment	(2)	+1	à	5	+	1	=	6.	

22. Pag.	35:	de	chute	tabel	levert	+2	op.	De	bomen	tabel	levert	een	4	op	à	4	+	2	=	6.	


